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isrb(main):001:0> image = Array.new(6)

[nil , nil, nil, nil, nil, nil]
isrb(main):002:0> a = Array.new(3)
[nil , nil, nil]
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isrb(main):003:0> foriin 0..2
isrb(main):004:1> a[i] =0
isrb(main):005:1> end

0..2

isrb(main):006:0> a

[0, O, 0]
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def makeld(n)
a = Array.new(n)
foriinO0..(n-1)
ali]=0
end
a
end

makeld.rb
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1. def

2. Array.new(n)

3. foriin0..(n-1)
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makeld.rb ZiZEDR—IUMhBAHoO—kK9 5
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isrb(main):007:0> image = Array.new(6)

[nil ,

nil , nil, nil, nil, nil]

isrb(main):008:0> foriin 0..5
isrb(main):009:1> imageli] = makeld(3)
isrb(main):010:1> end

0..5

isrb(main):011:0> image

=>[

0,0,0]10,0,0],1[0,0,0], [0, 0, 0], [0,

0,0
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load("./makeld.rb")
def make2d(m,n)
a = makeld(m)
foriinO..(m-1)
ali] = makeld(n)
end
3
end

make2d.rb
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* show(sphere(20)) ZZE{TL TRIRSNDER
DL, =1L, TDHIZLUTZEITIT 5,
—sphere.rb[TIBTEDR—I MW F o O0—k9 5,

(RICEREBDLIHFBELITESIDTEE )
— #I1ZE<&ESIZ make2d.rb & b.rb Z1ERLT 5,

(GFH(X, COHEDAFAET)



sphere.rb (2 M &1

L)

def sphere(r)
image = make2d(2*r+1, 2*r+1)
foryin 0..(2%r)
for xin 0..(2%*r)
image[y][x] = b(r,x,y)
end
end
Image
end

sphere.rb
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BE 2K b(r,x,y)

include(Math)
def b(r,x,y)
d = sqrt((x-r)**2 + (y-r)**2)
ifd<=r
(r-d)/r
else
1
end
end b.rb
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irb(main):001:0>x=1
=>1

irb(main):002:0> vy = x
=>1

irb(main):003:0> vy
=>1
irb(main):004:0>y =2
=>2

irb(main):005:0> vy
=>2

irb(main):006:0> x
=>1
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irb(main):001:0> x = [0,1]
=> [0, 1]
irb(main):002:0> vy = x
=> [0, 1]
irb(main):003:0> y[0]
=>0

irb(main):004:0> y[0] = 2
=>2

irb(main):005:0> y[0]
=>2

irb(main):006:0> x[0]
=>2
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irb(main):001:0> x = [0,1]
=> [0, 1]

irb(main):002:0> y = Array.new(2)
=> [nil, nil]
irb(main):003:0> y[0] = x[0]
=>0

irb(main):004:0> y[1] = x[1]
=>1

irb(main):005:0> y[0] = 2
=>2

irb(main):006:0> x

=> [0, 1]
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it 2R TEESoT...

irb(main):001:0> a = [[0,1],[3],[5,6]]
=> ([0, 1], [3], [5, 6]
irb(main):002:0> a.length()

=>3

irb(main):003:0> a[0].length()

=>2

irb(main):004:0> a[1].length()

=>1

irb(main):005:0> a[2].length()
=>2
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b = Array.new(2)
foriin0..1
b[i] = Array.new(2)
forjin0..1
b[i][j] =1
end

end
b

N o U hEwheE

[0,0.
[0,0.
10,1
[1,1
0,0
0,1
1,1

0,0].
1,1].
0,1].
1,1].
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b = Array.new(2)
foriin0..1
b[i] = Array.new(2)
forjin0..1
b[i][j] =1
end

end
b



R(Efa] R g ?

b = Array.new(2)
foriin0..1

b[i] = Array.new(2)
forjin0..1

b[i][j] =1
end

end
b
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b = Array.new(2) C
foriin0..1 o TSR
b[i] = Array.new(2)
forjin0..1 =0
b[i][j] = b[i] = Array.new(2)
end
end

b
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b = Array.new(2) C i
foriin0..1 o TSR

b[i] = Array.new(2)

forjin0..1 =0

b[i][j] = b[i] = Array.new(2)
end j=. O. .
bli][j] =1

end

b
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b = Array.new(2)
foriin0..1
b[i] = Array.new(2)
forjin0..1
b[i][j] =1
end

end
b
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i=0
b[i] = Array.new(2)
j=0
b[i][j] =i
j=1
bli][j] =1
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b = Array.new(2) C i O/
foriinO..1
—-—>

b[i] = Array.new(2)

forjin0..1 -
b[i][j] = b[i] = Array.new(2)
end
end

b
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b = Array.new(2)
foriin0..1
b[i] = Array.new(2)
forjin0..1
b[i][j] =1
end

end
b

e

N |

i=1
b[i] = Array.new(2)
j=0

b[i][j] =
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b = Array.new(2)
foriin0..1
b[i] = Array.new(2)
forjin0..1
b[i][j] =1
end

end
b

e

N |

i=1
b[i] = Array.new(2)
j=0
b[i][j] =i
j=1
bli][j] =1
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b

N o U hEwheE

[0,0.
[0,0.
10,1
[1,1
0,0
0,1
1,1

0,0].
1,1].
0,1].
1,1].
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b
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a = Array.new(2)

b = Array.new(2) B g
foriin0..1
b| +—
b[i] = a
forjin0..1
b[i][j] =1
end
end

b
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a = Array.new(2)

b = Array.new(2) A
foriin0..1 .
b[i] = a
forjin0..1
b[i][j] =1
end
end

b

C

I B N

i=0
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b
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a = Array.new(2)

b = Array.new(2) A
foriin0..1 .
b[i] = a
forjin0..1
b[i][j] =1
end
end

b
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b
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a = Array.new(2)
b = Array.new(2)
foriin0..1
b[i] = a
forjin0..1
b[i][j] =1
end

end
b
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def incl(b) def plusi(b)
n = b.length() n = b.length()
c = Array.new(n)
foriin0..n-1 foriin0..n-1
b[i] = b[i]+1 cli] = b[i]+1
end end
b C

end end
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irb(main):006:0>a = [1,2] irb(main):009:0> plusl(a)
=>[1, 2] => (3, 4]
irb(main):007:0> inc1(a) irb(main):010:0> a

=>[2, 3] =>[2, 3]

irb(main):008:0> a
=>[2, 3]
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K& B array_average(a,x)x{E4, I=F=LAIIE
NDELIF.aD x-1)FEBELE X+ BFBDIE
D>6.a DEHERADEDT=LT 5, HlIZIL 3
HY [1,2,3] DEE array_average(a,0) I 1.5,
array_average(a,1) [&2.0, array_average(a,2)
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def array_average(a,x)
n=0
s=0.0
forjin-1..1
if x+j >= 0 && x+j < a.length()
n=n+l
S = s+a[x+j]
end
end
if n ==
0
else
s/n
end

end array_average.rb
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image_average(image,x,y) ={EtL. BB D 5
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